EAGRAROBREERT — 2 N— ABISH —F 202068250 (K) 7EIEMH2H

IPERC1 45%4mL (w8 | mEmml - |5 5 o 8
[A&4£] 1% :700,000 8 ~ 23#&:196,000 3#&:98,000H ~ 43#&:70,000™ . 53 :56,000
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
_ 4 | EEF 1:31.4 8-8-7-5 |39.9| — | 3 | 483 |ALEFEBL (i)
1 6| P77 X AH—F e 5.0 (=) 1) | @) g<Bav-2
47 hT—EY B:iOfx—tHTz ke
ca e e MARAH 231, —4-3- X = HEH—ER (BR)
2 4| TNNFT AR o 57.0 1(33/14)6 ey 408 1 (5:)55) :Piﬂ?‘?
RL:d—IR7Ya—Ib B:eq> =AYk TEEHS
e 4 5 | FHE— 1:31.7 -1-1-1 | 41.2] — 5 485 | =EEZ (ER)
31811/ XA7—7 56.0 (3/4) 1) | ) Tr-—2bEVa>
LiANTz—"dI B:wUT g RIBHS
— e — 4 5 | TRE 1:32.0 5-5-5-5 | 40.8 | — 6 432 | FHAEE (FEH)
47| 9| VT ARAZY 54.0 (1 3/4) (1) |BAES
LY IRG4 G52 B:¥xvHULT7A R 2 =7 Fii%
.. ayE 1:32.1 -3-4-3 | 41.3| — | 1 464 | EEAE (FEH)
51| 1| R7VILF # 5 *553_0 (13/2) soas ° 0 (_65) BEEE
LN=V7514 B:T74—-WFVavy R A
. o .39, _0_1_ . — HFEEE (BE)
N - REBDPEE G -3 e B R ? ‘}2? it
R:hxexY B:AAJTHF N
7 | RZEREX 1:32.9 7-7-8-8 | 41.5| — 7 507 | BEiERER (EE)
7 2| T—NAZ— g 56.0 3) -3) T
L:aZ /XLy b BTN F— Il &
. 2 s 7 | REIEENR 1:33.3 1-11-9-9 | 41.5| — 4 498 | AiEHE ()
8l7/8 A)FT— L4 %53.0 (2 1/2) +1) 4RI~
R:7RYA YTy IR B:iA>T—KI7> AHE EH
N o NEETF :33. -10-11- . - masME (EE)
95|57 T1TLRIN i 5 oa (173273) 10-10-11-10/ 41.2 8 (f:) L
R:N—RRIS> BT T REA LR F—L—-TJv)Xr - T7—LERE
= = o 4 | WEFR 1:34. —6-6-7 | 42. = 47 KIFEE (EH)
10/8[10| 77 ¥ >Fa— # 54.0 <34>O oo ¢ ° (+f) R
LIZART—LF— B:FTN-+ Bl 18
- - P . —9-10- - ARES (EE)
» Sl x4vayank it 4 ks 1.(3:).6 8-9-10-11 | 42.7 1 z:g()) i
A4 a0k =5— B A3 7%R7T iy —F
® 1 —F—EBIERL
1a—7— |11,3,1,4,9,10,2,(6,7),5,8
2=l=C— 11,3,1,4,9,10,2,6,7,5,8
ga=7"= (3,11),4,1,9,10,6,2,8,7,5
43—7F— |[11,3,(1,4),(6,9),10,2,8,5,7
[ N3
BB 6 490H 714K 4-6 370M e 4-6 760M 3JEHE 4-6-11 3,390
8 B 6 1609 6-11 1,110H B = 4-6 930M K31 6-4-11 17,460H
4 160 4-11 20| | B B 6-4 1,930
1 270M

ARICOVWTRDTEEERROODE. TR LI,



